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-+ Answer the following questions {25%). &
1. How is the adjoint matnix 1elated w the cofactor matrix” i
2. The product of the exgenvalues of a square matrix equals the determinant of ¥
the matrix, Truc or false? .’_i

1 l.et A heasquare matrix such that A" 4 =7 What is the determinant of
A7

4 1s glx)=3x +2x +x, +4x x, +4x_ %, positive definite, negative

definite ur indelinie?

5. Let V= -:HIJ such that xy = {]l Is I/ a vector space?
¥ J

.~ Solve the following problems,
I.{10%) A small, open economy with a flexible exchange rate has IS, LM, and
EP curves given by
R=240-4Y + F
R=-50+Y

R= ]05+-;—|}" -2F

Solve, using row operations for the equilibrium interest rate /{, output Y|

and exchange rate .

4 2
2. (15%) Given A = [
2 1

(a) Find the cigenvalues of
(b} Daigonalize A hy an orthogonal matrix

() Find the eigenvalues of (A™ +2.4).
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=.1.{a) Find the linsarizaton of j‘ (I} = “ -+ ?ﬁ:} at X =0 for ainy number k 3
— »
!
{b) Use the approximation to estimate AV1.009 (10%a)
2. Evaluate
o dx .
Iy I
e x“edxdy »
(a) I X 42X 410 b .I..[ ) (13%}
- a v
inx
3. Skerch the graph of ¥V = o2 {10%)
4, A monopolist firm sells a single product in two separate markets . Suppose thal average
revenue in market 1 equals P = 20-20), and average revenue in market 2 equals
P, =153-1.5(}, . Total cost equals 7 = 5{¢, + . )
( £ represent the price 1n market i . (J, represent the quantity the firm sells
in markel 1)
{a) What are the {irst- and second-order conditons for profit maximization?
(L) What total quantity maximizes profit? What quantity does the firm sell in market 1
and what quantity does it sell in marker 27
(¢) What is the price of the product for two murkets? {15%4)
iy = A T -
a % 4 A : i &% & I H
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